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Read the following instructions carefully before you answer the questions.
(1)	 This question paper contains two sections. In Section I there are 1 to 25 questions of Third 

Language and in Section II there are 26 to 75 questions of Intelligence Test. All 75 questions are 
compulsory.

(2)	 All questions carry 2 marks each.
(3)	 Time limit to solve the question paper is 90 minutes.
(4)	 Separate answer sheet is given to record the answers. Each question has been given four 

alternatives. Read them carefully. Select and darken the correct answer in the answer sheet.
	 For Example :- If the correct alternative for Q. No. 6 is 2, then record your answer as follows : 

Question No. 6  -   1 1 3 4
(5)	 Maximum 20% questions are having two correct alternatives. Candidate has to darken both 

the circles with correct answers. These questions will have the instruction ‘Select two correct 
alternatives’.

	 For Example :- If the correct alternative for Q. No. 8 is 2 & 3, then record your answer as follows : 
Question No. 8   -   1 1 3 4

(6)	 Answer recorded in any other form will not be considered. Such answer will be credited with 
‘Zero’ mark.   1 2 4

(7)	 Use blue or black ball pen to darken the circle. Circles darkened by pencil will not be credited.
(8)  	 Answer once recorded can not be changed.
(9)	 The rough work is to be done in the space given under each page or on the last page of the 

question paper.
(10)	 The exam has limited time, in case you are not able to solve a question, kindly solve the next 

question. In the end if time permits you can try to solve the unsolved questions.
(11)	 If incomplete or wrong question found in a question paper, you are not permitted to ask the same 

to Supervisor or Centre Incharge.
(12)	 School or parents should not send written application to Block Education Officer or Education 

Officer for any error, mistake or objection issues. These error / mistake / objection issues should 
be registered online through respective school login only.

(13)	 The error / mistake / objection issues should be registered online within 10  -  days from the 
publication of Interim answer key on MSCE website.

(14)	 Suggestion and decision of expert committee will be applicable on printing or any other mistake 
in question paper.
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H$ÀÀ¶m H$m‘mgmR>r ’$³V

{d^mJ - I

‘amR>r
àíZ 01 Vo 03 gmR>r gyMZm…-
	� nwT>o EH$m gwg§JV n[aÀN>oXmMr VrZ dm³¶o {Xbr AmhoV, Vr dm³¶o nyU© H$aÊ¶mgmR>r ¶mo½¶ 

n¶m©¶ {ZdS>m.

01. AdKm ‘hmamîQ>— Ë¶m§Zm ........ ¶m CnmYrZo AmoiIVmo.
(1)	 bmoH$‘mÝ¶	 (2)	 ‘hmË‘m	 (3)	 gmZo Jwê$Or	 (4)	 {nVm‘h

02. Ë¶m§Zr ........ hm gmd©O{ZH$ CËgd bmoH$OmJ¥VrgmR>r gwé Ho$bm.  
(AMyH$ CËVamMo XmoZ n¶m©¶ {ZdS>m.)
(1)	 JUoemoËgd	 (2)	 am‘Zd‘r	 (3)	 {edO¶§Vr	 (4)	 ZdamÌ

03. Ë¶m§Zr ........  ¶m d¥ÎmnÌmVwZ "gaH$maMo S>moHo$ {R>H$mUmda Amho H$m?' Agm amoIR>moH$ 
gdmb {~«Q>re gaH$mabm {dMmabm hmoVm.
(1)	 Ho$gar	 (2)	 gmYZm	 (3)	 Xn©U	 (4)	 OZgÎmm

04. "^maVr¶ g§ñH¥$Vr' ¶m nwñVH$mMo boIH$ H$moU?
(1)	 ‘§Joe V|Sw>bH$a	 (2)	 Jmo.Zr.Xm§S>oH$a	 (3)	 Zm.J.Jmoao	 (4)	 gmZo JwéOr

05. "a§JrV noZ Am{U ZdrZ ‘moR>r dhr H$mbnmgyZ ‘bm gmnS>VM Zmhr.'  
(¶m dm³¶mV EHy$U {H$Vr {deofUo Ambr AmhoV?)
(1)	 VrZ	 (2)	 nmM	 (3)	 Mma	 (4)	 XmoZ

06. nwT>rbn¡H$s AH$‘©H$ {H«$¶mnX Agbobo dm³¶ H$moUVo?
(1)	 àkm {Z¶{‘V Aä¶mg H$aVo.	 (2)	 ‘moË¶mZo Mmoam§Zm nidyZ bmdbo.	
(3)	 AmB©Zo ‘bm nmoir-^mOr {Xbr.	 (4)	 ñdamO AmOM Jmdr Jobm.

07. nwT>rb dm³¶mVrb AYmoao{IV eãXg‘yhm~X²Xb ¶mo½¶ eãX {ZdS>m.
"AbrH$S>À¶m H$mimV Amnmngm§Vrb ^m§S>UmMo ‘yi eoVrdmS>r Am{U g§nÎmrMr dmQ>Ur hoM 
Pmbobo Amho.'
(1)	 H$mÏ¶mHy$Q>	 (2)	 Hw$a~ya	 (3)	 ¶mXdr	 (4)	 g§Ja
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08. dm³àMma d Ë¶m§Mm AW© ¶m§À¶m ¶mo½¶ OmoS>çm§Mm n¶m©¶ {ZdS>m.
dm³àMma AW©

1) CËH§$R>m dmT>Uo A)	 Jm|YiyZ OmÊmo.
2) H$mdao-~mdao hmoUo ~)	 àM§S> ^rVr dmQ>Uo.
3) A§Jmda H$mQ>o ¶oUo H$)	 CËgwH$Vm {Z‘m©U hmoUo.
(1)	 1-H$, 2-~, 3-A		  (2)	 1-~, 2-H$, 3-A	
(3)	 1-H$, 2-A, 3-~		  (4)	 1-A, 2-~, 3-H$

09. "Í¶§~H$ ~mnyOr R>m|~ao' ¶m§Zm H$moUË¶m Q>monUZmdmZo AmoiIbo OmVo?
(1)	 Ho$edgwV	 (2)	 ~mbH$dr	 (3)	 Hw$gw‘mJ«O	 (4)	 AmaVrà^y

10. nwT>rbn¡H$s "nyU© ^yVH$mi' AgUmao dm³¶ H$moUVo?
(1)	 Amåhr JS>mda MT>V hmoVmo.	 (2)	 Amåhr JS>mda MT>V AgVmo.	
(3)	 Amåhr JS>mda MT>bmo hmoVmo.	 (4)	 Amåhr JS>mda MT>V Agy.

11. nwT>rb dm³¶mV H$moUË¶m OmVrMm eãX Ambm Zmhr? (AMyH$ CËVamMo XmoZ n¶m©¶ {ZdS>m.)
"ggm g¡amd¡am YmdV gwQ>bm.'
(1)	 {deofU			   (2)	 {H«$¶mnX	
(3)	 {H«$¶m{deofU Aì¶¶		  (4)	 gd©Zm‘

12. nwT>o {Xboë¶m dm³¶mgmR>r ¶mo½¶ dm³¶àMmamMr {ZdS> H$am.
AbrH$S>o ¶mo½¶ ‘mJ©Xe©Z Z {‘imë¶mZo ‘wbm§À¶m Am¶wî¶mMr ........
(1)	 Kmb‘ob hmoUo	 (2)	 Pw§O XoUo	 (3)	 Yra MonUo	 (4)	 ’$a’$Q> hmoUo

àíZ 13 Vo 15 gmR>r gyMZm - 
	 nwT>rb H${dVm H$miOrnyd©H$ dmMm d Ë¶mImbrb àíZm§Mr CËVao n¶m©¶m§VyZ {ZdS>m.
	 {hadr PmS>r, {ndim S>m|Ja 
	 {Zir-gmdir Xar 
	 ~oQ> ~m§~yMo Ë¶mVwZ dmOo 
	 dmè¶mMr nmdar
		  H${^ÝZ H$mi¶m IS>H$m‘YwZr 
		  ’w$Q>{V XþYmMo Pao 
		  g§WnUmZo {Ja³¶m KoVr 
		  ew^« ew^« nmIao
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	 gmoZmd{iÀ¶m gmoZ’w$bm§Mm 
	 ~mOwg Vm’$m C^m 
	 Vb‘ Yw³¶mMr {Ziga ‘I‘b 
	 CS>Vo, {^S>Vo Z^m
		  {hadr Amobr ‘I‘b nm¶r 
		  Ver XmQ> {hadi 
		  A§J PmS>Vmo {^Obm dmam 
		  Ë¶mV Zdm Xadi
	 Sy>b KmbwZr OiW|~mMo 
	 V¥UnmVo S>mobVo 
	 eri KmbwZr amZnmIê$ 
	 ‘mÂ¶mer ~mobVo
		  Jmo{OadmUo H$aSy> hmoD$Z 
		  H$m¶ BWo ~mJSy> 
		  nmH$moir H$m {ndir hmoD$Z 
		  ’w$bm’w$bm§VwZ CSy>?

13. ~m§~yÀ¶m ~oQ>mVyZ H$moUVm AmdmO ¶oVmo Ago dU©Z H${dVoV Ambo Amho?
(1)	 gZB©Mm	 (2)	 nú¶m§Mm	 (3)	 eri KmVë¶mMm	 (4)	 ~mgarMm

14. H${dVoVrb dU©ZmZwgma AgË¶ {dYmZ H$moUVo?
(1)	 H$mù¶m IS>H$mVyZ ew^« Amohi dmhV AmhoV.
(2)	 N>moQ>r-N>moQ>r dmgao {hadirda ~mJS>V AmhoV.
(3)	 Yw³¶mMr MmXa AmH$membm {^S>Vo Amho.	
(4)	 Amobm dmam J§YmMm Xadi ngadVmo Amho.

15. JdVmMo nmVo H$moUVm Ab§H$ma KmbyZ {‘adVo?
(1)	 H$U©’w$bo	 (2)	 {hadm emby	 (3)	 Xdq~XÿMo Sy>b	 (4)	 H§$R>‘Ur

16. nwT>rbn¡H$s OmoS>eãX Zgbobm n¶m©¶ {ZdS>m.
(1)	 S>m‘S>m¡b	 (2)	 WmoS>o’$ma	 (3)	 gaXma	 (4)	 O‘dmO‘d
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17. {Xboë¶m eãXmMo Ë¶mnwT>o {Xbobo AW© Z OwiUmam n¶m©¶ {ZdS>m.
(1)	 ^md-~§Yy, dOZmMo OS>		 (2)	 hma-nam^d, ’w$bm§Mm hma	
(3)	 ObX-T>J, bdH$a		  (4)	 ‘mZ-‘moR>onUm, earamMm EH$ Ad¶d

18. "‘¥Jerf©' ¶m eãXmV EHy$U {H$Vr ì¶§OZo Ambr AmhoV?
(1)	 ghm	 (2)	 ZD$	 (3)	 Mma	 (4)	 nmM

19. g‘mZmWu eãXm§Mr OmoS>r ZgUmam n¶m©¶ H$moUVm? (AMyH$ CËVamMo XmoZ n¶m©¶ {ZdS>m.)
(1)	 dXZ - ‘wI	 (2)	 l‘ - {dlm‘	 (3)	 O§Jb - H$mZZ	 (4)	 bbZm - Mnbm

20. nwT>o {Xboë¶m eãXm§Vrb EHy$U AewX²Y eãX {H$Vr? 
(eara, ApñVËd, nwa…ñH$ma, CËH¥$îR>, AUyaoUy, ‘§Oyi, PwiyH$, na§Vw)
(1)	 Mma	 (2)	 XmoZ	 (3)	 VrZ	 (4)	 nmM

21. nwT>o {Xboë¶m dm³¶mVrb AYmoao{IV eãXmgmR>r ¶mo½¶ {dê$X²YmWu eãX n¶m©¶m§VyZ {ZdS>m. 
"AmVm gm‘mÝ¶ bmoH$m§Zmhr ZmJar OrdZmMr AmoT> bmJbr Amho.' 
(1)	 J«m‘rU	 (2)	 gwIr	 (3)	 ehar	 (4)	 ñdV§Ì

22. nwT>rbn¡H$s MwH$sMr {dê$X²YqbJr OmoS>r {ZdS>m.
(1)	 Jm¶-~¡b	 (2)	 {dYwa-{dXþfr	 (3)	 ‘moa-bm§S>moa	 (4)	 gmYy-gmÜdr

23. nwT>rbn¡H$s AZoH$dMZr Zm‘ H$moUVo?
(1)	 IoiUo	 (2)	 ZmUo	 (3)	 JmUo	 (4)	 ’w$Q>mUo

24. nwT>rbn¡H$s ¶mo½¶ {dam‘{MÝho dmnabobo {dYmZ n¶m©¶m§VyZ {ZdS>m.
(1)	 ^aV ‘bm åhUVmo. ""~mB© hm ‘m§Oam§Mm {d^mJ ~Km¶Mm¶?''	
(2)	 ^aV ‘bm åhUVmo, ""~mB©, hm ‘m§Oam§Mm {d^mJ ~Km¶Mm¶?''	
(3)	 ^aV ‘bm åhUVmo, ""~mB©! hm ‘m§Oam§Mm {d^mJ ~Km¶Mm¶?''	
(4)	 ^aV ‘bm åhUVmo, ""~mB©, hm ‘m§Oam§Mm {d^mJ ~Km¶Mm¶;''

25. "ñnîQ> Agboë¶m JmoîQ>rbm nwamdm ZH$mo.' ¶m AWm©Mr åhU n¶m©¶m§VyZ {ZdS>m.
(1)	 {eVmdê$Z ^mVmMr narjm.
(2)	 Á¶m JmdÀ¶m ~moar, Ë¶mM JmdÀ¶m ~m^ir.
(3)	 H$moigm CJimdm {VVH$m H$mimM.
(4)	 hmVÀ¶m H§$H$Umbm Amagm H$embm.
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SECTION - II

INTELLIGENCE TEST
Directions Q. 26 to 28.
	 �Identify the rhythmic arrangement of terms given below and find the correct term 

in place of the question mark.

26. ? ? ?
(1)	 	 (2)	 	 (3)	 	 (4)	

27. m n n s e m ? s e n m s e n ? m ? n n s
(1)	 n e n	 (2)	 n m e	 (3)	 n n e	 (4)	 e s n

28. 5 2 1 ? 4 1 7 4 5 ? 4 ? 2 1 7 2 1 7 4 5
(1)	 7 2 5	 (2)	 2 7 5	 (3)	 5 7 2	 (4)	 7 5 2

29. Health is wealth means ___ [Choose two correct options from the following.]
(1)	 Good health is the real wealth.	
(2)	 Good health is equally important as wealth.	
(3)	 Health and wealth are dependent on each other.	
(4)	 Good health is enjoyed only by rich people.

30. The ratio of the present ages of Aashish and Aditya is 4:7. Eight years hence, the 
ratio of their ages will be 2:3. Find Aditya's age five years ago.
(1)	 28 years	 (2)	 19 years	 (3)	 23 years	 (4)	 11 years

31. Ishan told Aradhya “You are the daughter of my mother's sister-in-law.” How is 
Aradhya related to Ishan's father?
(1)	 daughter	 (2)	 cousin	 (3)	 niece	 (4)	 maternal aunt

32. In the following number series find the odd term.
2, 3, 6, 10, 18, 27, 54, 81, 162
(1)	 54	 (2)	 10	 (3)	 162	 (4)	 242
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33. Ninad walked 5m. East. Then he walked 2.25m. North. Then he turned to his right, 
in right angle and walked 5m. Now what will be the minimum distance from the 
original position?
(1)	 10.25 m	 (2)	 10.50 m	 (3)	 9.25 m	 (4)	 12.50 m

34. Choose the correct alternative to complete the question figure.
Question Figure :                   Answer Figures :

	 	 	 	
	 (1)	 (2)	 (3)	 (4)

35. In a Zoo, no animal is having any physical disability. Total number of legs of 
deers and ducks together is 52 and the total number of heads taken together is 
19. Find the number of ducks in the Zoo.
(1)	 7	 (2)	 14	 (3)	 10	 (4)	 12

Directions Q. 36 and 37. 
	� The number of players playing different games in a school are given in the following 

Venn diagram. Observe the figure and choose the correct alternative to answer the 
questions that follow.

Chess Players

Hockey Players

Cricket Players
5 2

5

3

8

4

10
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36. How many players play indoor games?
(1)	 8	 (2)	 19	 (3)	 18	 (4)	 13

37. By What percentage the number of players playing only chess is more than the 
number of players playing all the three games.
(1)	 60%	 (2)	 40%	 (3)	 75%	 (4)	 160%

Directions Q. 38 and 39. 
	 Identify the water reflection of the question figure from the given alternatives.

38. Question Figure :			   Answer Figures :

	 	 	 	
	 (1)	 (2)	 (3)	 (4)

39. Question Figure :			   Answer Figures :

ATN
	

ATN AT
N AT

N A
T
N

	

ATN AT
N AT

N A
T
N

	

ATN AT
N AT

N A
T
N

	

ATN AT
N AT

N A
T
N

	 (1)	 (2)	 (3)	 (4)

Directions Q. 40 to 44. 
	� In each of the following questions relation between the third and the fourth term 

is the same as that between the first and the second term. Find the term to replace 
the question mark.
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40. 23 : 49 : : 41 : ? (Select two correct alternatives)

(1)	 161	 (2)	 125	 (3)	 85	 (4)	 92

41. Gold : Au : : Silver : ?

(1)	 Ag	 (2)	 Al	 (3)	 Fe	 (4)	 Cu

42. Mango : Fruit : : Ginger : ?

(1)	 Leaf	 (2)	 Root	 (3)	 Stem	 (4)	 Vegetable

43.

: : : HH
H

: ?

	 (1)	 (2)	 (3)	 (4)

44. DH : N : : BF : ? (Choose two correct alternatives)

(1)	 I	 (2)	 R	 (3)	 W	 (4)	 J

Directions Q. 45 and 46.

	� In a certain code language the word HAD is written as 532, SHE is written as 
145 and DIE is written as 391.
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45. How will you write the word HIS in the same code language?

(1)	 354	 (2)	 294	 (3)	 594	 (4)	 539

46. Which of the following word will be formed by the code 4293?

(1)	 DEAD	 (2)	 HEAD	 (3)	 PAID	 (4)	 SAID

47. In a certain code language COT is written as ELV, SUN is written as URP. How 
will you write the word PIG in the same code language?

(1)	 RFI	 (2)	 RHI	 (3)	 RGI	 (4)	 QJH

48. Identify the correct mirror image of the question figure from the alternatives given.

Question Figure :			   Answer Figures :

	 	 	 	

	 (1)	 (2)	 (3)	 (4)

49. The paper as shown in the question figure is folded and shaded region is cut as 
shown in the question figure. How will the figure look like when the paper is 
unfolded. Choose the correct option.

Question Figure :                   Answer Figures :

	 	 	 	

	 (1)	 (2)	 (3)	 (4)
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?

50. In a certain year, Environment Day falls on Friday. Then on which day Children’s 
Day will fall in the same year?

(1)	 Monday	 (2)	 Sunday	 (3)	 Thursday	 (4)	 Saturday

51. In the following number series, how many times two prime numbers follow each 
other consequently?

3 5 7 4 2 6 3 7 9 4 2 5 3 2 4 9 7 5 6 2 9

(1)	 8	 (2)	 6	 (3)	 7	 (4)	 5

52. In the given alphabet series to get the word opposite in meaning of the word 
‘beautiful’, which will be the correct order of numbers?

(1)	 21, 10,  25, 12		 (2)	 21, 7, 11, 25	

(3)	 21, 7, 12, 25			   (4)	 12, 21, 8, 25

Directions Q. 53 to 57.

	 Find the odd term.

53. (1)	 talented	 (2)	 dull	 (3)	 intelligent	 (4)	 bright

54. (1)	 Potato	 (2)	 Ginger	 (3)	 Elephant foot	 (4)	 Sweet Potato

55. (1)	 289	 (2)	 143	 (3)	 221	 (4)	 187

56. (1)	 SUW	 (2)	 BCE	 (3)	 MQS	 (4)	 EGK
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57.

	 (1)	 (2)	 (3)	 (4)

58. Find out the rule underlying the arrangement of numbers in the following question 
and choose the correct alternative that will replace the question mark.

24

57

55

83

32

?6

(1)	 4	 (2)	 1	 (3)	 3	 (4)	 2

59. Observe the numbers given in the following square and choose the correct alternative 
to replace the question mark. [Choose two correct alternatives]

35 28 13

17 ? 52

62 43 22

(1)	 73	 (2)	 85	 (3)	 8	 (4)	 10

60. Find the hidden part of the question figure from the alternatives given.
Question Figure :			   Answer Figures :

	 	 	 	
	 (1)	 (2)	 (3)	 (4)
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Directions : Q. 61 to 65.

	 �In the following series determine the rule underlying the series and find out the 
term in place of the question mark.

61. 6, 6, 9, 18, 45, ?

(1)	 90	 (2)	 145	 (3)	 125	 (4)	 135

62. 3, 8, 15, 26, 43, 68, 103, ? 

(1)	 150	 (2)	 120	 (3)	 206	 (4)	 152

63. & # 3 x  +, # & 3  x  +, # 3 & x  +, ?

(1)	 # 3 & + x	 (2)	 #  3 x & +	 (3)	 x + # 3 &	 (4)	 3 # & x +

64. YX, WU, TQ, PL, ?

(1)	 KE	 (2)	 LE	 (3)	 JE	 (4)	 KF

65.

H

H H

?
, , ,

H H

H

H

	 (1)	 (2)	 (3)	 (4)
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66. In a queue Vihan is at 23rd position from left and Sonal is at 15th position from 
right. There are four boys between them. Find total number of children in the 
queue. [Choose two correct alternatives.]
(1)	 41	 (2)	 31	 (3)	 32	 (4)	 42

Directions: Q. 67 and 68.
	 �Choose the correct figure from the alternatives given that exactly matches with the 

question figure.

67. Question Figure :			   Answer Figures :

	 	 	 	
	 (1)	 (2)	 (3)	 (4)

68. Question Figure :			   Answer Figures :

	 	 	 	
	 (1)	 (2)	 (3)	 (4)

69. At which position from right, will be the letter, which is at equal distance from 
the letters I and U; in the given alphabet series.
(1)	 11th Position	 (2)	 12th Position	 (3)	 10th Position	 (4)	 8th Position

70. In the given alphabet series first and third groups are interchanged, similarly fifth 
and second groups are interchanged and a new Alphabet series is formed. Then 
which letter will be at the middle position between the letters Q and M in the 
new Alphabet series?
(1)	 O	 (2)	 A	 (3)	 X	 (4)	 Y
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Directions Q. 71 and 72. 
	� A wooden cube is painted red on the opposite two surfaces, green on the other 

two opposite surfaces and blue on the remaining opposite surfaces. The wooden 
block is cut on all the faces thrice at equal distance. Then

71. How many cubes have only two colours red and blue?
(1)	 8	 (2)	 12	 (3)	 10	 (4)	 4

72. How many cubes have only one face painted?
(1)	 36	 (2)	 12	 (3)	 24	 (4)	 30

Directions Q. 73 to 75. 
	� Observe the following pyramid of numbers and choose the correct alternative that 

will replace the question mark in the questions that follow.

15
27 22

19 34 17
25 12 31 33

28 32 37 26 21
14 18 23 39 13 36

20 38 29 16 35 24 30

73.  25321237 : 33263137 : : 38182923 : ?
(1)	 24133916	 (2)	 24133539	 (3)	 30362413	 (4)	 39351324

74. 28, 20, 38, 32, 37, 29, 16, 26, ?, ?
(1)	 13, 35	 (2)	 35, 21	 (3)	 24, 30	 (4)	 21, 35

75. Choose two correct alternatives for the following question.
271912 : 311722 : : 281438 : ?
(1)	 322329	 (2)	 243621	 (3)	 292332	 (4)	 373916
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